000 GeV pp Soft QCD

Opp/ O

7
3035 FF T T T ' | 2
L . 1o
— Cross section(An > 3) =13
- 1S
0.3 — [ | ALICE _‘C_)|
~ = Pythia 6.428 359 N
[ A Pythia 6.428 370 =
0.25 [ Pythia 6.428 a s
"7 ---+-- Pythia 6.428 dw 1%
- —o— Pythia 6.428 p0 1%
= ¥ Pythia 6.428 pro-q2o -
0.2 — —]
0.15 — ]

0.1

mcplots.cern.ch [arXiv:1306.3436]

0.05 [ —
Ia) _l | | | | | | | | | |_
! ' ! '3
2 £ 32
o -
|
s 1L 11
g i S ———— .
s I i
o i i
05 105

l . L . L . L . L . l . L . L . L . L . l
6999.5 7000 7000.5
sqrt{s} [GeV]



	Contents
	Page 1


